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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ gt qﬂ'&ﬁ & ﬁﬂ, @ DI
faaor L]

1. Moderate / HEIH

2. Equal / GHATeT

3. Appropriate / 3'@%?(—[
4. Same / Uh aﬂT
Correct Answer :-

o Equal / HHTeT

2) The primary focus of a formative Assessment for learning should be: / 3ferRTH & ﬁl'q U TRfY®
S a- BT WIS &Y AT A1

1. checking the classroom presence of the child / aér ﬁ D&l 'ﬁf W@Iﬁf ﬁ \_rl'\ll?[ DAl
2. checking memorizing skills / HRUT fad Eﬁ'SZTE‘T CARCIGIETL |

3. help in improving writing skills / TR BT Dl ﬁ'il'l?af H Heg Bl

4. understanding the gaps in learning / ST H 3R B HHAAT

Correct Answer :-

« understanding the gaps in learning / SfRTH H 3IRTA B NEERI

3) Mohan is a 13-year-old 9" class student with a mental age of 16. What

type of child is he based on his IQ scores? / Hg 13 Tifa Y He&m &1 B 8, RrId AR® 3Mg16
21 98 A gf ¥R & MYR R {57 YR &1 9= 82

1. Imbecile /ﬂgﬂ' Iqr Fe

2. Genius / IfAHTATeT

3. Above average / 3iGd A FUX
4, Superior / ass

Correct Answer :-

« Superior / ARTS


Lenovo
Stamp

Lenovo
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4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬁﬁ?ﬁmvﬁm%mnaﬁwmm%ﬁmﬁaﬁﬁsﬁa%ﬁmmm
ST 872

1. Latency / cTaeFdTaedT (ofcH)

2. Phallic / Tol9T TeTATaEdT (hice®)

3. Oral / HETGEAT (31R)

4. Anal / J[ETGEAT (TsTeT)

Correct Answer :-

* Anal / T[CTIEAT (VUeToT)

5) What is Progressive Education? / Tttt Rrem < %?

1. It has standardized testing / Eﬂﬁ WI:W’Q@F[ qﬁ&‘lUT Eﬁ?ﬂ %I

2. Itis Learning by doing / S8 X §U & (aifefar ar$ 3591) @ &
3. It is data-driven learning / 3G SeI-3memid et grar &

4. 1t has standards-based curriculum / ST HTeTehl U MR ITsTHaA BT &1

Correct Answer :-

« Itis Learning by doing / S&& &cl gv e (Sl ag 5\3—‘”') glell &l
6) is called maturation. / CARIEL i ERIESIGH %I
1. Family intervention / gIRaTe W&#q'

2. A change due to cultural influences / '\'TW}_%E JHTal & HIROT Teh qﬁﬂ?“ﬁ

3. Natural biological development / Q'@fﬁ'aﬁ SAfae e

4. Change due to environmental pressures / JATEoNT Earat & SIRUT gRadeT

Correct Answer :-

» Natural biological development / W SAfae e

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / g Bl FIT'];W% & ﬁl'l'{ 3y foar Sirar %, fad | PO
HfFadl B $H A $H & TAR GER] IR T 14T g1

1. Extended Longitudinal Method /ﬁw &Fﬁ?ﬁ Q'@
2. Longitudinal growth/ 3‘1@%\"3& ac?\'\%

3. Cross Longitudinal Method/ $h1E 31T faehrer
4. Mixed longitudinal/ TRT3T 3reieed

Correct Answer :-

« Mixed longitudinal/ TATAT 3rgced



8) Which of the following is not a use of an intelligence test? / ﬁmﬁﬁa##ﬁmﬁ@qﬁmm
IR AL AT 8?

1. Selection of students for scholarships / Wﬁéﬁﬁ'ﬂ'ﬁlﬂi ol Il
2. Evaluation of teacher’s performance / fﬂ%%ﬁ?ﬁww

3. Grading of a student / Teh &TF &l AT

4. Predicting a student’s success / TUch &4 FT Tholdr 1 Ht\drloj,Hlﬂ ]

Correct Answer :-
« Grading of a student / Teh &I T AT

9) The main objective of ADIP scheme is to provide to persons with locomotor disability. / TSI3TSUY
AT FT AT 35827, AFANT feeqiorar a safFaat Ht YT FTT ¢

1. Disability certificate / f&eamaTdr JHTOTIT
2. Employment / IISTITR
3. Education / forar

4. Aids and Appliances / HgiFeh 3R 30T

Correct Answer :-

« Aids and Appliances / grIH 3R ITRIOT

10) The three major themes in Vygotsky’s Social Development Theory are: / aﬁvﬂaqa?r & gHASS
e Ry 7 &iv ww v &

1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / TlTelTcHeh QfQ\T&j?IT , ATATToTh
FEATRIaT 3R gREaRe fFuRorarg

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

HATATcHS iRIeIar, d aRe #efierd, givey [emg & ax

3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / IREIREH ﬁ'iﬂTUTEITEI, EIRIIRG]
3R &3, AT 3reToholel (Fellfeher sHsrerfeia)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / STHTToTeh
HEHATHIAT, GHIEY Tahrd &1 817, 37 3T AT Teef

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / ATHTTSTH
FeTarar, GEaTY AT T &7, 3 31 AT Usel

11) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction
and stimulation. / AR fa#Ae 3R 30T F e IHTW Yo T & AT &1 W,
FO TH TFR T qIFHIT o

1. Disadvantaged / afdd



2. Normal / GTHTT
3. Backward / 9gddTt
4. Gifted / 9fqdTaTT

Correct Answer :-

o Gifted / STa#TaTeT

12) Language development in children follows the Principle of / ool & o 1 e g m}l’lﬂ' &
et BT e

1. Integration / TehIehTOT

2. Uniform pattern / Teh&Y Yeor

3. Continuity / feReRar

4. Individual differences / SHTFAINT THoaAdT

Correct Answer :-

e Uniform pattern / Teh&Y Yoot

13) Direct method is also known as : / 9cg&T fafer & sH ™ # oft ST SITar %‘:
1. Direct approach / JcT&T € ScahIvT

2. Inductional approach / YRUTcH® € fScehloT

3. Natural method / STehfcier fafer

4. Indirect approach / 39cgal TfSeahiv

Correct Answer :-

» Natural method / ';rmﬁm Jafer

14) In collaborative learning, it is better that the students go through ./ ganit feers ﬁ', Ig dF %
fF o * ATEIH & F1CI

1. Self-assessment / Fdd: 3heleT

2. Formative assessment / Y{dellcHh d-lichoio-l

3. Peer assessment / areft 3fieholeT

4, Summative assessment / q\ldllcd-ldn J-Iichoio'l

Correct Answer :-
o Peer assessment / grefy 3eholed

15) Rating scales are used to measure / F AS F T FA AUROT AT A TFe) FT 39AET
fFar Jmar B

1. Intelligence / g?{ﬁ



2. Attitudes / a@aﬁr
3. Achievement / 391 B3]
4. Skills / IreT

Correct Answer :-

o Attitudes / a@aﬁr

16) Which of the following disorders is caused by an extra twenty-first chromosome? / AT & ¥+l

a1 AR v Hfalea sFhrad IORE F FROT g1 82

1. Phenylketonuria / ﬁ?ﬁaaﬂaaﬁfm

2. Down syndrome / ST3e1 @—Qﬂ

3. Turner’s syndrome / TR FI ﬁls’m

4. Sickle cell anemia / Gl hITRART IRFddT (Rhel TeT TATAAT)
Correct Answer :-

e Down syndrome / ST3e] @—;PFFT

17) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

e & @ # @ IR Ted I i e, g FE F gAA T HWE {2
1. No transfer will occur/aﬁé off ETETaOT Fl_E?f ?WTI

2. Extent of transfer will be minimum / TITTAROT &I A& egoddH e

3. Extent of transfer will be less / TATATALOT T AEAY hed BIMI

4. Extent of transfer will be greater / TATATARUT T faTdR 31T gam|

Correct Answer :-

« Extent of transfer will be greater / TATATAROT T AR 318 gram|

18) Which of the following statements best defines motivation? / AFafaf@d & ¥ FIF-AT FUT YoM Y
=B RE IRHAT Faar 2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ fRar safea & 3ﬂ?|ﬁ7=h_ ’yfa ar
IR &l 3dfoid adl g, FERIa iy § 3tk garw @ 81

2. State of one’s emotional strength to respond to difficult situation. / FiSeT qRTEATT FT @ T & folv T
HIaeTcAS AfFd @1 fEufa|

3. One’s ability to demonstrate discipline. / 3-1?:]; M TS el T &THdT
4. One’s ability to do a task quickly and neatly. / fRET FRT & FTedr 3R 3oeT b T T HT &TAT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ T eafgg 1 3aies afa s
SIAgR &l 3dfold Xl g, [AGRId axXdr g 3R Fo 0 3@ gl



19) Which of the following is not characteristic of a relational learning style? / fFafaf@d HA A &l @1
geeTcAS At A f Rwar € 2

1. Sequential thinking / 3-17:!:95@3? ara

2. Perception of information as part of a whole / FE[USI' & R & & H AT Fr eRom

3. Intuitive learning / HgoT ATel e 3T

4. Improvisation / )T IT Alchiieleh Feeiel

Correct Answer :-

+ Sequential thinking / 37eJsh{&e HI<

20) Which of the following teaches parents a range of techniques for controlling and managing their children's
symptoms, especially with children diagnosed with conduct disorder? / Frafef@T & ¥ slad 9 , HIdI-
Rar & 3ve g=al & JaTo F IR T 3R Tt w9 F P & ad § Oed T [@y
T T IROT {AFR (FeFe BHAE) F AT aa &2

1. Parent training programmes / ai‘c' aﬁm m

2. Functional Family therapy / FraTHPS TRaR W

3. Systematic family therapy / quTTeleTd hiFelr aXdr
4. Play therapy / Tor IRAY

Correct Answer :-

« Parent training programmes / e a T ORI

21) What among these are not personality traits?/ IH & FIT hTocicd of&ToT =Tgl 8?2
1. Thinking-feeling/ TaaR- TG

2. Judging-perceiving / 37TehaT. -gHSTAT

3. Sensation-intuition./ TAGaT- 3c: T

4. height-color / Fe-3aT

Correct Answer :-

« height-color / He-TaT

22) What is a rule that always leads to a solution if used correctly called? / 3 I & F41 FEr AT % S
FAAT UF WA Tl § TG 3HHT TEl &1 § 39A0T Foham sIm?

1. Heuristic / Tad: XY (SGRREH)

2. Algorithm / TeaRZH
3. Information processing / ¥deIT JHEROT

4, Stereotype / m (FEIRAeEy)

Correct Answer :-



e Algorithm / Ted e

23) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other
information? / ST F§ TTAT HTAT AR A 39N F W Figad Far §, 3R 357 ga=mat A
e FT §, O FE ISR F1 Iy geiid gar §2

1. Selective attention / TellcHD IHITA

2. Simultaneous attention / -{-Id-ldnlfaqv ddTe]
3. Divided attention / T%T&Fd 37aEITeT

4. General attention / HTHICT 3T

Correct Answer :-

o Selective attention / IdATcHD HITed

24) There is an addition of information to the existing information in learning./ T &

Hisar SeFR & v vw sfafed swar ¥
1. Sporadic / %TEE

2. Spiral / after

3. Linear / Y{&&

4. Disjunctive / ety

Correct Answer :-

« Spiral / Gl

25) Who among the following did not propose a trait theory of personality? /

farafaf@a & & Fas cafFdaaa &1 v Rdvar Rgua (2 o) geafaa a@
1. Hans Eysenk / EF éﬂﬁiﬁ

2. Raymond Cattell / IHAS ol

3. Albert Bandura / 3Teeic ET'U§TI'

4. Gordon Allport / s 3ifemre

Correct Answer :-

« Albert Bandura / 3Teac E:IIU?QT

26) An individual achieves the masculine or feminine social role during ./ TEgEa

& ghurer diww 71 For @ iR e Far
1. Childhood / ST (TTScSGS)

2. Adolescence / freiRmasar

3. Late Childhood / 929 §99<T (elc AFEES)



4. Infancy / Q21

Correct Answer :-

. Adolescence / freiRraEem

27) Meta components, performance components and knowledge acquisition components are categories of:/ Aer YCh,

yedie "ew 3R A wifta gew A & & fradr Aftrn &
1. Tripartite Theory/ T¥9&Nar f&gena

2. Triarchic Theory/ [ECAIE] @?{\UI?T

3. Allport’s Theory/ 3TAE HI ﬁlﬁfﬂﬁ

4. Eysenck’s Theory/ 3-]1?:@3? 2l f@?{}ﬂ?f

Correct Answer :-

« Triarchic Theory/ T3eIOTR—T m

28) Skinner advocated that learning was more likely to occur when/ f®Fe & g&hrad &1 fF H@ar &ir
FHTGAT a9 3w g § o9

1. Explaining public events or observable behavior/ grasifae "3l AT TcliehaiiT qdgi¥ Fr AT FLAT

2. Observation of a behavior is followed by modelling/ Ush cIdgR bl 3aclieneT  Tfciasr SR fohar Sar gl
3. Behavior becomes a reflex response to stimulus/ SIdg 3dolell o ol Teh YTddlG Iidihdl del ST %’I

4. Behavior is reinforced with a reward or punishment4eIdeIRyehl TehnSellH Tl TSl & TTY Yafald fohar Srar
gl

Correct Answer :-

» Behavior is reinforced with a reward or punishment/ €IdgI{ FI Th SollH AT HSIT & IOrY gdteld fohar Srdr

gl

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

frafafaa A 3 fea faf &1 SuanT e sufed & saagR &1 3P FHUdr § 3euaq 31 & g
o wirar 82

1. Observation Method / el fafer
2. Experimental Method/ gaemeae fafer
3. Survey Method/ &deor fafer

4. Case study Method/ & ¥edr fafer

Correct Answer :-

. Case study Method/ & 3 fafer



Which of the following is a projective technique to assess the personality? / ﬁﬂ:ﬂ%l'@a ﬁ '\q Q)EFI' ?ﬂ H&}'TUT
AH1P ATHRIT BT ATHA B & ¢ gl @ ?

1. Rorschach Ink blot / IIMTh TTET T ST (W HIC)
2. Interview / HI&ITch Y
3. Questionnaire /I2ATTIT

4. Observation / Y&T0T

Correct Answer :-

« Rorschach Ink blot / ITh LR A RIS || (ﬁﬂﬁ? 3@0_@’1“3)

Topic:- General Hindi (L1GH)

1) T Fg 9] @ S,

Prerd aer Fela T TEs

ATHT @ a1 T fAd 38 wor arey|
e & Fo1 ot &, Mg ofrar

AR F IO IR, AIOT U, W

e srerch SRy e, i, aTal

AR e Naww JR, e dsiclt A

fietrae # O =, Agar FqTe |

Fn, F=n wgw quna fowr R g ardh

|IARAT T &TAT G, TeT FYFA S

el T 987 &T@Or, ISl STAETSl T NI

#RP Ty PReT amR, feagh won e
3UGFA TGHART BT TGH oAl Y& A qT WA FT 3cal qaA18T]
yeeT: ‘Rt & O W R e o ¥
1. SoRTH Y

2. ST

3. eTAT H

4. 74Tl &Y

Correct Answer :-

2) TR R AT @ Sf,

Ry s FEl TR @

AT FE, 90T T, AT 35 S@or 9|
e & For o<t #, Mg drar

AR A IO IR, FAIOT U @R



T srarelt Sy ey, ofle] At w

AR FEre dawaT |, e dsie Avem

Rietras # & =, #ger 7T arem|

Fan, a1 wigw auna faw R o e

|IARAT T ETWOT I, TE FEEE qwd|

3eft T wo] a@or, A AT T ANl

#RP T Wy PR amR, st won ek

39T USIIT B YGH AR T A qIA YT FT 3cak IABTI

weaT: ‘IefRT s W AT AT &7

1. shdol 3R gl
2. %ad 4 @
3.3 § FIg AW
4, 31T BT 3R & @R et

Correct Answer :-

o 7R g 3R 8 @ gEt

3) T Fgi GArRT @Y S,

PR dren 7 T TS|

ATHT Y 1T AL, A 36 0T 9|

e & For a1t #, Mg ofrar ey

AR H STHOT I, GAIOT IR @

T srarelt SRRy aTey, ofle At awe

AR Fare faww @R, e At A

Rietraer % O W, #gat AT el

Fn, F=n wgw qund R R a

|IGRAT T ETHT IR, TeX FHFN T

el T 997 ET@or, &S STAeSl T ol

#RP T w7 PRER amR, feast won e

3UYFA TGIARN Y TGH oAl Y& A qT WA FT 3cal qaA3T]
T ‘IO UG TIEAT { FARA FT FAT IMAT 72
1§97 ¥ FI5

2. U1 &I GIARET g ST T

3. 9N AT @ g Smdar

4. g 7 @d 9gd &

Correct Answer :-



4) ¥H FE AT E@r S,

et arem Fela R @S

AT EE, 90T T, AT 35 S@or 9y

fiewras & For ol &, Mg her ey

S F GIHOT U, FAIOT Iy G|

T sTerelt SRy ey, e arat

AR ere diaeT @i, e Sl AT

Rietrae # @ W, #ger FTe are|

Fa1, e wgw i faw R og aw

|IGRAT T &I{T IR, TEX FHFA T

3eft T e EwOT, A SAHAATS T ANl

#RT T 9 AR AR, Ras) gon i

3UYFA TSI Y IGHT Al Y& A qT T FT 3cal qaA3TI
Yo AR AT 7 At iy gar Fr gl 372
1. 3earaqot

2. e

3. AT

4 95 g

Correct Answer :-

5) TOH g G I@r S,

forurdr aem Fela T @S

AT EF 91 T, AT 35 xwr 9y

e & F1 o<t &, Mg ofrar ey

R H ETHOT U, GAIOT Uy @

o1 srercht SRy e, ofief, arat

AR e farw JR, e At A

Riewraer # e T, g R A

Fan, 31 Aga qond R faw g ardn

|IARAT T &IAT I, TEX FYFN T

el I o) &IWor, At FHASH T AR

#RP Ty PReT amR, feash won e

39T YT H Y AR YT A A YT FT 3cck IdARTI
YeeT: FET gl Y SAHA HART Foor F Fgl AR Fa g g B Qe FA E2
1. 39 EN

2. 3MER AT AT FHAT e W



3.ART & ;R W
4. CANHT H FR-FaX

Correct Answer :-

6) TIH Fgit ATHY @Y S,

frurd arer Fia T TEieh

A EL a7 A AT 35 ST O

e & For et A, Mg ofrar e

R H EIHOT U, GAIOT IRy @

T srarelt SRRy ATy, ofle amat wwe

AR e faww JR, e At A

fRietras # O R, Aeger T awen|

¥, I #gw e R R o aw

WIGRAT T EIHT IR, Te FHFN T

el T 98] &T@or, &S STAeSl T R

#RT T Wy AR e, Ras) won s

3UYFA TGIART Y IGH alld Y& oA aT TRT FT Ieal qd50]
yeaT: Four Y HiFT A AT AR O AT TS qF F AAN 87
1. haol "

2. Shael FteT

3. TreRY 3R Al alat

4. 38 W PIS AT
Correct Answer :-

o TR 3R Al gt

7) TIH Fg TR @Y S,

et arem Fela =R @S

AT FE, 90T T, AT 35 S@or 9y
fietaa & o ot &, Mg ofrar ey
S F GIHOT I, FAIOT Iy G|
#TE srarcht SRy ATy, e amat axe
AR Hare fawaw |, e I Avem
Rietraa # e =, Fge I arem|
Fa1, e wgw o faw R og e’
|IGRAT T EIHT IRy, e FHFN T
et I w8y &xwor, dsAT SHEArS U ARl



R0 9y FReR aeR, Ras gon e

39YFd UEIIT F YGH AR T A T YT FT 3cck IABTI
TR FOUT AT AN FIA F ART F FAT G gramw?

1. AE deltarg

2. 548 ¥ F ALl

3.9 3R g

4. Tl Td GIA

Correct Answer :-

8) T Fgit ATHY [T SiY,

PR e 7 T @S|

AT EE, a1 T, AT 35 S@or 9|

e & For o<t A, Mg ofrar

S F GIHOT U, FAIOT Iy G|

T srarclt SRy ATy, ofle amat aweh

AR Fere fawaw d@lg, w0 At A

Rietraa # @ W, #Aga AT are|

¥, I #gw avna o T o

|IGRAT T EIHT IR, e FYFN T

et T WS STWOT, AlSAT STHATS T ARl

#RT T Wy AR e, fRas) won sk

3GYFA TEIARN Y TGHT Al Y& A qT WA FT 3cal qaA13T]
YeeT: FaArAH Fel A o AfA F MG A far amT ge HEA?
1. et

2. 7Y R

3. garde

4, AR HY

Correct Answer :-

* gerae &I

9) TIH FgiA THT T S,

et arem Fgia A @S

AT FE, 90T T, AT 35 Sx@or 9y
fitmaa & o ol &, M ofrar )
AR H ETHOT U, FAIOT UG @
#TE srarcht Sy ATy, e amat wRe



AR e dawat |, e dsiet Avem

Rietraet 3 9o T, e IR @)

¥, =1 Age qone fawr faer o an

|IGRAT T &IHT IR, TeX FHFN T

et I w8y &xwor, dsAr SHEAre U il

#RT T 9o FRER anR, fRast gon ek

39YFd UEIIT B YGH A T A A YT FT 3ca] IABTI
weoT: FAMR o -0 & O W A @ gger F Foor F Ao A a1 A 32
1. STl ST

2. AT 9ER

3. fATa ggeTa

4. TgsT AT

Correct Answer :-
9 O

10) TIH Fg T @Y A,

ARyl aren w9 T@s|

AHT @ 90T T fAd 38 xwor 9|
fewas & For el #, Mg ofrar =y
AR F IO IR, FAIOT U W
T sTaTelt SIRPRY AT, i, arat ||
AR e faww J, e At A
fRieraa # O =M, Aeer FqTe aram|
Fn, = Agw quna e e w" T
|IaRAT T EIHT I, Te FHFA T
el T 98] &T@or, dSA STAeSl T Rl
#RP Ty PReT amR, feash won e
3UGFA TGIART Y TGH oAl Y& A qT WA FT 3cal qaA18T]
ee: ARmETE A -l e 272

1. MorqAfAfHT smor &

2. 3oThT VT & I[GTEAUTA &l JE &
3.5 ¥ IS e

4. AR § AAd-Foreh §

Correct Answer :-

o 3ofehl ST & JSEUEA &7 I &

11) T FgI AT T@T S,



PR dren 7 T @S|

ATHT ] T T, AT 36 0T 9|

e & For o<t A, Mg frar

S F GTHOT I, FAIOT Iy @

T srarelt SRy arey, ofle amat awe

AR Fere faaw d@lg, w7 A A

Rietraa # @ W, #Age AT are|

¥, = wgw qune R R a" e

[laRAT T EIWOr Iy, TEX FEFE W

et T w8y Exwor, AT SHEArS U il

#RT T w7 FReR amR, feash won e

3UYFA TGIARN Y TGH Al Y& A qT WA FT 3cal a3l
weeT: HRT WaT AUl I AT @ T A W @ §?
1 &9 3R o

2. HYS-old

3. 419 Ud sfed

4. a8 3R 3meqyor

Correct Answer :-

« T T Hikd

12) ©IH g AL @ S,

el arer Fia G TEish

AHT @ 90T T, fAd 36 S@or arey|

figwas & F1 o<l &, Mg ofrer g

R H ETHOT Uy, GAIOT U @l

HIT $aTelt Sy O, o], et ww

AR e faww §R, T At A

fieraer & 99 =, Ager F arem

¥, I #gw e R R o awl

AR T GEOT I, weR FgwE wis

3meft I w3 exwor, A SFHEA T ARl

R T Wy AReR AR, Ras) g sk

39T YSIIT F Y A T AR A YT FT 3cck IdATI
weeT: HRT A 39 UG H F@l AT AW T FTOT FFT M 27
1. 3I-37 Agell & &g

2. HYA & A A

3.93-93 W A



4. AsAT #

Correct Answer :-

o 339 Agal & ad

13) ¥H FgR G @l S,

R arem FEle T TEs

AT FE, 90T T, AT 35 ST@or 9y
e & For o<t #, Mg drar
S F GIHOT U, FAIOT Iy G|
HIT serelt Y 9, ol et awE
AR e dawaR |y, e dsie Avem
fieras & O =@, Avger FTe aran|
¥, 31 Age qone fawr faer o an
|IGRAT T EI{0T I, e FYFN T
et T W8y &xwor, dsA SHEATS U il
#RT T 9o FRER AnR, Rast gon ek
39YFd YEIIRT F YGH A B S TS YT FT 3cak IdAB3TI
WeT: I YAG-Yae ART AlhT TAHT FSOT F Agel A a0TaTa] F dAr 7371 grem?
1. 0T & gl g SMuar
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26) ¥IfecT 1 @F HYAF T 3TN Tl 3TAN F SAeH
WW@WWWWImaﬁﬁ'@ﬁaﬁr T3
wﬁlsvﬁ?a:maﬁmaﬁa;mﬁmmaﬁ% sft :
mﬁramﬁﬁmmmmmamﬁﬁmmmmmmammmamw
T @ ol 3E @ O Ee e F AR aEoTT FF e ¥ @ 9 UE YT A 39U AN A 4
mmmﬁq@#qaﬁa‘n1740#mwmmm#mﬂmmaﬁ # am
Y| R Taatatet # F§ Ul & WY WY AFGLE a4 ol ¥ 39eam,H W aew AR e w5 # #Acg
fh-efrlmé:ﬁmmﬂ:wmmaﬁﬂm#mmﬁ:maﬁaﬁ#m#mq?aﬁﬁm
HATHT FART AT Tl B

syearat # RfYT gfaar safts awafas gdt &t sik safae frawsrar @ d@ar & arct ot 39w 9ed w7 gow
A & 39T F G Y gfrar F e Frar 47| 3ueArw F Al B vEHid F gge A A )| STeArw o i wr
W aId A W ot & fF F gdafad aREYT # 9o g9 3R FEEl W =T F FF| @97 AT 39 F GRE F
Sad & Y AT T ATAATT FT ad ¥ 1836 H Ao e i Rwlas I 1 v 9B # uRm@ERs F 37 &
v frar o) afed e gt ot ik Rt @ sy el ot unmEtfRE & w9 A e & et F wedw g9 war @
g aer gug off I A1 F FEEN F A TAlC F STAR H AR F 3T FTAE F A FT SdR S o] T8 &
gk & oifter & favdla, 3u=amal & TS AT FHST A FEEN A& @ N afed gremer At fr i @ o sEhadt
T F T F i@ gor 4% @ g Anl eI § v AR A 3 el off ot gl AR Ay ik aed
aﬁaﬂﬁmaﬁuﬁrﬁaﬂmﬁﬁ#mwmwé’rmmw

39T AGHIY FT IGHF A & AT oA F el qaA180|

weeT: Rfder dattatsht & #§ gunl 3 adfer & a3 alwt @ e #gg e
1. Tshr seret AR e e &

2.5 @ PIS AT

3. 9uR AR g@R #

4. BaTg 3R JuS H

Correct Answer :-

« TSshr FgTe 3R g Hes A



27) WIfted &1 0F IY@AF T 39T §| 3TAE FT AH
mwﬁqugammlmﬁmﬁ T
Telll $70s & IRUR®F AASATT q9F F Iramar e weT I F st :
mﬁmaﬁmmmummwmmm a:mm@mmmamma
Wﬁuﬁaﬁlmmmmmﬁﬁmmﬁmaﬁ{&mﬁ AT A YT YT A YA AL g1 &
3R e S i od T A Al 1740#ﬁmﬂwmmmaﬁrmﬁmmaﬁqﬁr#m
T R Eatolo # &6 QURT & W WY AERT & a8 0F @ 39eAw B R qg AN g FA S F @S
ﬁﬁ»ﬁlmﬂ:ﬁmmﬂ:wm&ﬂaﬂ#m#mwﬁ:mﬁaﬁ%%ﬂw#mwaﬁ#a@
HATHT FAT AT FFAT ¢

suearat # Rfya gfaar sfte awafas &l &t sik safoe freawsar @ d@ar & aret off 39w 9ed woT uow
I § 3T & qE A gfAar F ger Srar 97| 3T F del FF uHa A ggd A ITemer &Y U A delt wr
39 aid &1 ey Y §r R 3 Idefaw Ry F gz FF 3 FER W gat F FF| @R JFE 3uEIE F aiEt F
ST & 3T T FY AAATT FT dd A1 1836 & Ted BFa i RNwfaF I 1 v 9fw & anaEfes F s &
v R o) afed wel ol off st Rt @ sy el ot awraifR® & w0 #F e @ et F www Fe war
O ot gue off FI A1 § FEEN F IS Talc F SAR A AT F 30T ATAE F I FT SdoR FIS X T8l &
et & ot & AUdT, 3u=grEt & TS AT AT Y FerE TE e A afew wremer A A i @ of sehwEt
T A U F i@ gor 4% @ g A sieEhEor § v AR A 3 el off adt gl A Ay s aed
mﬁmm@ﬁﬁumﬁm#mnmwﬁmmm

3GYFA ICIRT FT TgHT A & AT FeT FT el IA3T

ges: AT HFEY 3UA & gRAT & Sl F HUe T F FAT I AT I?
1. $% et

2. 984 ¥

c

3. 3Tel3T-YeldT
4. ATcHATT

Correct Answer :-

28) WIftcy &1 & IMYMS T I9AH ¢l 39AH FT SieH
WW@WWWWImaﬁmﬁaﬁr
w&laﬂ?#ﬂqﬁ?maﬁ%mﬁmmaﬂ
mﬁmﬁmmmﬁummﬁmmmmmW#mmmamW
awﬁmﬁaﬂlmmmmﬁaﬁ#mﬁmmﬁqﬁmﬂmmamawﬁmmma}
AT e At F T ¥ QT AT A1 1740 H Y W AR A GEAwrerA H TGS § 39qw i A # am
Y| R Tearatet # #§ Ul & @y oy AR & aF alw & 3w # A aem AR e wa # #Ac
ﬁ-efrlm%ﬁvm#wmmﬁﬁﬂm#mwﬁ:waﬁaﬁ*%#mwaﬁﬁm
HATHT FART AT Tl ¥

syearat # RAfT gfawr s awafas gdt &t sik safae frawsrar @ d@ar & arct Ot 39w 9ed woT gow
A § 3UAAE & 9E A gAAT A qAT ST 97| SUAA A A FY CHT H gga Ay e &Y SUSA A et wr
39 aid $r e oY & R 3 Ardefas Ry F gz @F 3 FeRl W gat FT FF| @1 JFER 3uE F e F
Shae & 39 AT I HAFT T od | 1836 H Ted BFa A Neldw IRt # v g # ar@aRs & 30 &
v frar ol afyed wed gl ot st Rl @ sqy el ot unmEtfRe & w9 A 3w & ot F wedw g9 war @
O T gde Y A A1 T FEET F IS TAlC F SAOR H AWET F 3P oA F 3 FT Sdo” FId T T8k &
gk & Tifter & favdla, 3u=amal & TS AT FHST A FEEN A @ N afed aremer At fr i @ o sEhadt
T F AT # ie@fE g % @ gH an se@hiEtor @ vE AR a8 sEAS Sl ot gt qEdt AR wergyl ik el
Shtaer it FAEa? ot @ g oAt A A @z A gAA WURT Foigy & AR @ ATl

39T AGHIY FT IGH A & AT YA F el I8V

Uee: YT Ued AT UTSH AT & Hgl gl SATar 41?
1. 39 W

2. 39 SHAR

3. gieT @



4. T ¥ g o

Correct Answer :-

29) wIfReT 1 oF IYMF T 3TN 7l 3T F FeA Ric N F e AA arfasER ¥ e § Fror
mwa?mawqgﬂqmlmaﬁmﬁﬁOMWW#gé , S 3roEtdl & # FAHT Fell
Telll $70ds & IRUR®F AASATT q9F F Iramar e 7eT a9 & aer o a:.-m TA| YISH FT TEAT 967 F
mﬁﬁvﬁﬁmmmmma'Gﬁaﬁmmsﬁrmaﬁa: ﬂwﬁmﬁd’rsﬂta‘aﬂww
A9 RrEs @t T dEF aeh dwe Aot F AT e R O XE ¥ T A YT g A 3w A o
AR e S i odw T A Al 1740#mwmmmﬁmﬁmmaﬁm#m
m’nﬁﬁwémma%#wémﬂsmmmﬂ?ﬂm#m#mmaﬁrmmmﬁ#m
ﬁ?ﬁlma}'mmtwm&mﬁﬁ#m#mw%maﬁaﬁ?%ﬂw#mwﬁ#a@
HATHT FAT AT FFT ¢

suearat # Rfya gfaar sfte awafds &t &t sik safoe frawsrar @ d@ar & arc off 39w 9ed woa uow
A @ 3T & 9E A gfAAr F qer Srar 97| 3 A del F uHla A ggd A ITemer &Y SUSAr @ det wr
39 aid &1 ey oY §r R 3 Fdefaw Ry F gz T 3 FEE W gat T FH| @R JFE 3uEIE F aiEt F
e & TS AT FY AAATT FT ad A1 1836 & e BFa i NwflAF I 1 v 9iw & arEfiRs F s &
v R o) afed wecd @l off st Rt @ sy ol ot awmaife® & w9 F e @ et F wwdw g @ar ar
oY T gHe Y FIQ A1 F FEEN F IE TAlC F SAOR F HHET A 39T A8 F 3 FT SdoR FS I G &
ek & ot & RUAa, 3u=arat & ST A1 FHST hY FEE T@ g B e wramer e fr e @ ot seadt
T F T F i@frE gor 4% @ gF am ieEhEor & v AR A 3 el off ot gl AR Aegy s aed
mﬁmmwﬁmumaﬁmﬁmnmwﬁmmm

3GYFA I FT TgHT A & AT JeT FT el IA3T

Uoe: TS T WEAT d¢a0 & W & AWHI T FAT Ig ME?
1. @

2. 3THCSAT

3. TR

4. @I

Correct Answer :-

30) wifeew &1 @& Iyfas w7 3T Pl 39w F SR B N F ww
WW@WWWWImaﬁWﬁ aanaaﬂeiﬁafrﬁgéaﬁ ST JroEYEl @t # FAHT Foll
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oY o1 goe st FA F1 § FEE F 3P TAlC F SASR A JWET T 30T ACAE F A FT SdoK Fd I 98T &
gk & witew & faTdid, su=aml & e a1 AHET FT FEET A& et off afed FERor dEt B g et off| sehadt
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39T AGHIYT FT IGHF A & AT oA F el I8V



weT: Qﬁﬁmmmﬁmmﬁﬁ@#q{e}?
1. T &% o g & FRoT

2. 981 o gl & HROT

3. TR BUE & HROT

4. FGIN gl & HROUT

Correct Answer :-

« HEAN A & HROT

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What is forcing Gudigar’s to undertake other jobs?
1. Insufficient resources

2. Insufficient helpers

3. Lack of skill

4, Lack of interest

Correct Answer :-

* Insufficient resources

2) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

In the passage migrate means
1. They wandered from Goa to Karnataka

2. Relocating from Goa to Karnataka for work



3. Went on a short trip to Karnataka and came back

4. Went on a spiritual journey from Goa to Karnataka

Correct Answer :-

* Relocating from Goa to Karnataka for work

3) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

Who promoted sandalwood craft in Karnataka?
1. Government

2. Gudigar clan

3. Mysore Wadiyars

4. Gypsies of Goa

Correct Answer :-

e Gudigar clan

4) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What did the Gudigars engage themselves in during the Wadiyar rule?
1. Selling their artefacts

2. Owning some of the temples and palaces

3. Becoming caretakers of the temples and palaces

4, Building palaces and temples

Correct Answer :-

* Building palaces and temples



5) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

The speaker compares the sky to a:
1. milk bottle

2. pale blue paper

3. sea shore

4, water fall

Correct Answer :-

« pale blue paper

6) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

The ‘sun’ in the poem is referred to as:
1. All of the above

2. A golden coin only

3. An orange life boat only

4. A yellow beach ball only

Correct Answer :-

o All of the above

7) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven



the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In the poem, theskyis .
1. clear

2. windy

3. cloudy

4. stormy

Correct Answer :-

o clear

8) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In this line “The sun is a yellow beach ball” which literary device has been used by the speaker?
1. Simile

2. Personification

3. Assonance

4, Alliteration

Correct Answer :-
o Personification

9) Read the sentence carefully and choose the option that has an error in it:

Sitting under an umbrella, Bob was startled when a gust of wind suddenly carried it away.
1. No error

2. Sitting under an umbrella,

3. a gust of wind carried it away.

4. Bob was startled when



Correct Answer :-
* agust of wind carried it away.

10) Fill in the blank with the correct option in the given sentence:

One must not have any other diver-- while driving.
1. --sify

2. --sions

3. --ted

4. --sification

Correct Answer :-

e --sions

11) Fill in the blank with the correct option in the given sentence:

People hold ______ views on the issue of arranged marriages.
1. opposites

2. opposition

3. opposing

4. opponent

Correct Answer :-

e opposing

12) Fill in the blank with the most appropriate preposition in the given sentence.
They jumped___ the water from their boat.

1. on

2.1in

3. beside

4, into

Correct Answer :-

e into

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

The patient afraid that he swine flu, but the doctor assured him that he from only mild
fever.



1. was, had, was suffering
2. did, have, will suffer
3. am, have, was suffered

4. will, have, are suffered

Correct Answer :-
* was, had, was suffering

14) Choose the right tag:

Raju can swim well, ?
1.isn't he

2. can he

3. can't he

4, doesn't he

Correct Answer :-
e can't he

15) Choose the option that substitutes the given phrase appropriately.

A building where an audience sits
1. Auditorium
2. Acquarium
3. Sanatorium

4, Stadium

Correct Answer :-
e Auditorium

16) Change the given statement to indirect speech.
“Are you lost, my child?”, asked a soft voice behind me.
1. A soft voice from behind asked me if I was lost.

2. A soft voice said to me are you lost child.

3. A soft voice asked If I am lost.

4, A soft voice behind me asked if I was lost.

Correct Answer :-

o A soft voice behind me asked if I was lost.



17) Choose the appropriate prepositions for the given sentence:

I usually donate food __ the orphans festivals.
1. to, during

2. for, onto

3. with, at

4. of, by

Correct Answer :-

e to, during

18) Choose the appropriate conjunction for the given sentence:

The weather was fine we decided to go out for a long walk.

1. and
2. as
3. but

4, because

Correct Answer :-

e and

19) Choose the appropriate antonym for the highlighted word in the given sentence.
The dour villagers glared silently at the tourists.

1. Morose

2. Attractive

3. Hapless

4. Cheery

Correct Answer :-
e Cheery

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

He consulted a number of magazines, books, websites and other reference materials to prepare for his
examination.

1. A number of magazines, books, websites and other reference materials are consulted by him to prepare for his
examination.

2. A number of magazines, books, websites and other reference materials consulted him to prepare for his examination.



3. A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

4. A number of magazines, books, websites and other reference materials had consulted by him to prepare for his
examination.

Correct Answer :-

* A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

21) Choose the appropriate synonym for the highlighted word in the given sentence.

The group deliberated for an hour before reaching a decision.
1. Voted

2. Appealed

3. Agreed

4. Discussed

Correct Answer :-

e Discussed

22) Choose the suitable word to complete the given sentence.

When you do not agree with someone, you --agree.
1. anti--
2. dis--
3. pre--

4, contra--

Correct Answer :-
o dis--

23) Choose appropriate articles for the given sentence:

_ studentsreached __ top of mountain by noon.
1. The, the, the

2. The, a, no article required

3. No article required, the, a

4. No article required, a, the

Correct Answer :-



* The, the, the

24) Choose an appropriate modal for the given sentence:

We respect our constitution.
1. might

2. must

3. would

4, could

Correct Answer :-

25) Choose the correct option to fill in the blank in the given sentence.
The two teams greeted before the toss took place.

1. one another

2. all

3. themselves

4, each other

Correct Answer :-

« cach other

26) Choose the most appropriate determiner in the given sentence.
of the schools would suit me.

1. Either

2. Education

3. Every

4, Each

Correct Answer :-
o Either

27) Choose the option that best explains the highlighted expression:
We are going round in circles. I wish you’'d come up with a new idea.
1. discuss something without making any progress

2. talk in a roundabout manner

3. make great progress

4. move about in circles



Correct Answer :-

o discuss something without making any progress

28) Choose the option that best explains the highlighted expression:
The children’s behavior has gone beyond a joke this time.

1. rather boring

2. rather interesting

3. rather humorous

4. rather annoying

Correct Answer :-
« rather annoying

29) Choose the option that best transforms the sentence into its Indirect form:

The teacher said to the boy, “shut the door.”
1. The teacher asked to the boy to shut the door.
2. The teacher asked the boy that to shut the door.
3. The teacher asked the boy to shut the door.

4. The teacher said the boy to shut the door.

Correct Answer :-

* The teacher asked the boy to shut the door.

30) Which of the following options best combines the given two sentences?

I was tired of walking. I wanted to take rest.

1. Wanting to rest, I was tired of walking.

2. Being tired of walking, I wanted to take rest.
3. I being tired of walking, I took rest.

4. As I was tired, | was wanting to rest.

Correct Answer :-

» Being tired of walking, I wanted to take rest.

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /



e gered #1 W7 geAcT 13.6 ¥ 3R HHT ImAA 20 A3 {1 FWHT gAAET fFaaT #2
1.272g / A
2.2.72¢ / ATH
3.27.2¢ / ATH

4.0.06g / AH

Correct Answer :-

2)
The current—voltage graph for two conductors ‘P’ and ‘Q" are shown below. Select the correct

statement from the following options. /

ar garers P Q& T Rega dels 3@ A fgme o 8 Aeatfaa
faeredr & HEr HYUF FT TTAT FII

Current 0]

v

Voltage
1. For the same 'value of voltage, the current through the'conductor Q ' is moresthan the current through the conductor P. /

dledsl & HATT A & AT, [aegd S gares Q@ gl ol 3 , gATelh P IoRaA aTell
faegd & 31fte gl & |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

AT P T IR Falelh Q& IfaIY & A &

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
gaTeh Pl Sfaly garas Q& gfaiy & fes g

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
AP P P YRR aTas Q F Ry I 1 3

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /

IS P T UfRIY Garas Q & Wfekiy § &1 1



Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N & Ush del, Ush W W FRIAd § I Ig BT 10 [ & 36[HR, de1 & o gl &I fger
A 5 e T T § favarid giar g1 fhaer FrRf g3 ad #X

l F=10N

]
5=5m

1.-50J

2.25)

3.50)

4.0

Correct Answer :-

« 0J

./ MATPR 9 § 39 avd uerd &t

4) Liquids in spherical containers should be placed

@1 ST 13T

1. near a water source in the lab / JZNITRTEIl & UlAl e Ueh Gl & 91T
2. near the window / @I & AT

3.in dark / &Y H

4.in open shelves / E;,?ﬂ ferariar o

Correct Answer :-

. indark / 39X H

5) What are the food requirements of dairy animals? /
38 g3t A WG FraRTFAC FAT B2
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
HARIGT T 3T AT H Tl A dedl aTel Il AT T TGl Blcll ¢
2. Cattle require appropriate amount of food to sustain life needs. /

HATAGT &l SiiaeT T HTGRTRAT3NT Pl R A & TIT $SleT T ITYF AT T AT el
gl

3. Cattle are fed with plenty of green grass as well as dried fodder. /




FATAT 1 38 g1 ° & WY & g@r I o W S gl

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AARIGT & #fislel A AT °IRT, ST A9H §I  WeR g AT YY-3MER T BIgR HH giar g
Afhad 3T 3Ta TR & WA T 3T 9IS dcd 81 gl

Correct Answer :-

« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

HARAT & ol & Al TRT, ST G0 & § WER & AT GR-3BR fSeTd Brger A gl ©
AfheT 3O 3Tg TR & WET T 3T NS dcd 8ld 8l

6) The cracks inside a metal block can be detected with the help of:/

4T sdle & AN IR T FeraT & FFasT gar oJorman 1 G &
1. Visible light / €T HehIm

2. Infrasonic sound / 3187 €afa

3. Audible sound / g tafa

4. Ultra sound / 9¥&eg &afel

Correct Answer :-

« Ultra sound / 9¥&ed &afer

7) What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the
same end is placed over a candle flame? /

FIT Q91T 3R FTST T TH BIE UET, TF od g T B F Th SR W FHART ¢ &) ST §
3N 39 B35 & g BN W &F AT A ot F TAHT @ AT §?

1. Only some portions of the paper will burn off. /
hdol ATl & HS G STl S|
2. The paper will not burn off since iron is a good conductor. /
FHETST FAET STl Fifeh IRRA Ueh 3T [9udes gl
3. The paper will burn off since it is an insulator. /
FETST STl ST Fiteh Jg aaaes ¢l

4. The flame of the candle will put off. /

AAGCA & ol g7 Sreed

Correct Answer :-

o The paper will not burn off since iron is a good conductor. /

PRI A8l STeld FIifeh 3RRA Ush 3TaT [HdEs gl




8) At the top of the mountain the atmospheric pressure is: /

715 ¥ ofif W, araraei gae BT AR g @

1. Less than the pressure at the sea level / HHG del 9T qdld T A

2. Equal to the pressure at the sea level / HHAG del 9T qdld F TR

3. Equal to zero / [ & T

4. Greater than the pressure at the sea level / HHAG del G qdld T A
Correct Answer :-

 Less than the pressure at the sea level / HHG def 9T qdld T

9) Haemophilia and colour blindness are diseases. /
gARfor 3k quiterar e B

1. acquired / 3atfaia

2. communicable / HehTH®

3. genetic disorders / 3-11?33% ICETEY

4. non communicable / 3THShIHS

Correct Answer :-

« genetic disorders / 3-11?:|;c|fQ\F=F IGEIRS

10) polar bear survives in the very cold weather conditions because of: /
ST o1 e ofvrer e #1 Feufy # s SR cea ¥, it
1. Thick layer of fat under skin / cadT & S gar ST AT WA & HROT

2. Abundant fish / ST AGCll

3. Oversize / faemersprr

4. Ice covered land / % & &1 FTHT

Correct Answer :-

« Thick layer of fat under skin / cd<l & S gar T AT WA & HROT

11) Convert: 15m/s into km/h /
15m/s Y km/h H TAART faT |
1. 54km/h / 54 fehcitTe/aer

2. 27km/h / 27 TrelidTe/aer

3. 18km/h / 18 TehellaTe/aer

4. 36km/h / 36 Tehell#TeI/EeT



Correct Answer :-

« 54km/h / 54 Theliee/ger

12) which of the following is not advisable for controlling the noise pollution? /
PR & @ 01 @ TEu F1 PFERT S F e SR
1. The TV and the music systems should be run at low volume. /

&t 3R F@Iftd a7 (ReeA) & A AT # Tl aIgy|
2. The least number of trees should be planted around the buildings./

=l & IRY 3R HH F FH U5 J9T e AT
3. Automobile horns should be minimized at the residential area./

AT 8T F AAGST 8l A HH F HH HAT ST AT
4. Industrial units should be set up away from the residential area./

AT gehrsal S AT &7 § gy T fohar S =gl

Correct Answer :-

o The least number of trees should be planted around the buildings./

HaAr & IRT 3R A T HH U5 ST Al Aol

13) For a normal eye, the far point and near point are and respectively./

TF AT A7 & A, e e [y sy s e by Faw kI gl

1. infinite , 25 cm / 37ed, 25 AT

2. infinite , zero / 3741, T
3. 45cm 25 cm / 45 THT, 25 AT
4.25cm, 10 cm / 25 AT, 10 9HT

Correct Answer :-
« infinite, 25 cm / 37ed, 25 AT

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

At F FoF W F FUSt F §H HUF IRHACHF AFHH FI § FifH A T F FIS 8

1. Light coloured cloths absorbs more heat radiation/%cr% T F a:crg, 378 FvF [AfRTor &t 3@en®a
ad gl

2. Light coloured cloths absorbs less heat radiation /B T & HUYs, HH F°H AR Fr 3@™T Hd
gl

3. Dark coloured cloths radiate more heat radiation /?I%')C T F $C|?; s FoH ﬁw, AfPRaT
gl



4. Light coloured cloths absorbs more moisture / 8¢ 3T & HUS 31 TH BT IMVT Hd &

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /3«35 T & %CI?,, 7 37 Jfetor ot 3@n®a sa
gl

15) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation / T & YYH Y YIcd F & faw, a1fora
qdiam H gAAT100 H & 100 3% fAed &1 T8 YT T TFH 3SR &l
1. Extrinsic / dTEd

2. power-based / QTFd-3TUTRT

3. fear-based / 3TI-3TITRA
4. Competitive / Ifararaft

Correct Answer :-
« Extrinsic / dT¢d

16) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two

equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

U dR B S9 220V HET I & ST S ¢ d6, 396, f@Aegq,3r7eTT Py @G Bl I3 AR R

Y SER TSI A FIET AT § AN FAAYET § SNSHY $H WA 3T & ST 1 B o5W
feufa # Rega sraeaw Py @1 §1 Py : P, W HXI

1.2:1
2.3:1
3.1:2

4.1:4

Correct Answer :-

17) To save maximum energy it is advisable to use: /
IftFan Fa1 99 & QAT FFasr suaer w@ R ga= S §:
1. CFL lamps in our house / AR X & TIUHU ofq

2. Filament lamps in our house / AR 8X H fhadic ol#y (HT-_J; ol )
3. Fluorescent lamps in our house / AR & H gfddia of
4. LED lamps in our house / AR &Y H Tolgal oiq



Correct Answer :-

« LED lamps in our house / AR X H Telsal oid

18) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

TF feger #, 85 mL 9=t 3R 15 mL e aar &1 Aeasr & AEr gfaesd @ &A= v aoEn
Coy

1.22.4%

2. 15%

3.17.6%

4. 85%

Correct Answer :-

 15%

19) Identify the correct electronic configuration of calcium /
Hfowraw & T sAwciias Regrm A gga #i|
1.2,8,8,2

2.2,8,5

3.2,8,8,1

4.2,8,7

Correct Answer :-

20) The number of oxygen atoms present in 1 mole of Na,COj3. 10H,0 /
N2,CO;. 10H,0 ¥ U AN F Jiferdisrar WA it e Aleg @
, 13.02X 10¥ oxygen atoms ; 43 05 x 1023 aiferfi TR

2. 6.022 X 10 oxygen atoms/ 6.022 X 1023 &ﬁa@mm

3, 7.83 X 10% oxygen atoms/ 7.83 X 1024 &ﬁammqwq

4 4.63 x 102 oxygen r;r,tmn.'s/4_63 X 1022 Giuﬁ@\_rlqm

Correct Answer :-

24 - T
. 783X 10 oxygen atoms | 5 g3y 1024 3ifaefior TRATY

21) The process used to separate bacteria from water is /



el & dFARAT FY T F H 9fFar 7
1. Decantation / faEcROT

2. Crystallisation / TohEcelTahtoT

3. Evaporation / aTsqe]

4, Filtration / faedeaT

Correct Answer :-

« Filtration / ¥deaT

22) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

et o 71T &9 W FRRT g 125N/m? &1 I e = oo 2500N § aF a7 59 9 aer o
IAT § TE R

1. 200m2 / 20052
2.2m2 / 2 #H?
3.20m2 / 20 #r2

4.20cm? / 20 TH2

Correct Answer :-

« 20m2 / 20 #?

23) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

die @1 & B TG (X) FT eererr 5 e foar smar @ 3k e B srar @1 @@ g oy areh
T I (Y) 3T FIAT g1 37 (Y) B v A9 IR A vea Far Smar § 3k aisr o sreew
e ST § a9 Wréle wewgyw s (2) @1 @A e €1 o (X) ve @ (Y) F= R

1. X Sy &Y = SO3

2.X = P4&Y = P,05

3.X

Sg &Y = SO,

4. X

S4&Y = SO;3

Correct Answer :-
e X = Sg&Y =S50,

24) Out of the following given materials, which one will you prefer to make the handle of an electric
kettle? /

frafaf@a & 1§ A F Q, 37 FAY F gAFeH Fdel FT 5 TAAT GHE HLA?



1. Tungsten / TITECaT

2. Bakelite / SehellSe

3. Copper / PR
4. Aluminium / TgfAfYg

Correct Answer :-

« Bakelite / Sohellse

25) A weak acid among the following is: /
feeT & @ vF gae I &

1. Acetic acid / Tffeeh 3Far

2. Hydrochloric acid / 8T38IeellReh 37Fcl
3. Nitric acid / ATTeaH 3T

4. Sulphuric acid / HFCFZI:QEF &l

Correct Answer :-

o Acetic acid / Tfafes 3o

26) Type of the soil is decided by the /

ST FT YHR et garr a7 faar s @

1. Amount of humus in it / 38H W©Ig hl AT
2. Average size of the soil particles / FeT & U FT AT IHR
3. Porosity of the soil. / T T IRTHIRT

4. Amount of microorganisms in it / I ﬁ&ﬂ\‘rﬁﬁ CAR:IE

Correct Answer :-

« Average size of the soil particles / F&T % FHUN &1 A AR

27) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
dca P’ & WA FEAT 19 71 fAmafaf@a & § sea wuwr @

1. The valency of the elementis 1 / dcd $Tr gArSTHRar 1 gl

2. Element ‘P’ is a non-metal. / dcd ‘P’ Ueh I gl

3. Element ‘P’ belongs to group I / dcd 'P' HHg 1 & 3T 37T §

4. Element ‘P’ belongs to 4™ period / dca ‘P’ @i 3mad & 3ideld 31T &1

Correct Answer :-

« FElement ‘P’ is a non-metal. / dcd ‘P’ Teh 34Tg gl



28) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

iz 4R @ &7 oFe, 3ET scufe & T 3uAler Fa & 3ud Fea 3k aofier f gfderaar
fras &2

1. 50% Carbon & 50% Lead. / 50% @Iee Td 50% efrem|
2.100% Carbon & 0% Lead. / 100% e Ta 0% <frem|
3. 0% Carbon & 100% Lead / 0% e Td 100% <frem|
4.75% Carbon & 25% Lead. / 75% @Il Td 25% <Mem|

Correct Answer :-

« 100% Carbon & 0% Lead. / 100% &hTssT Td 0% 22|

29) Which one of the following factors affects the quality of honey produced? /

farafaf@a #& ¥ 5@ rF @ U A Joraer yenfaa gt &2

1. Number of worker bees which collect the nectar / I5F &l HRIG 3HCST Hel dlel HaIY H‘{lﬂ%@'ﬂ’f Hr
e

2. None of the above / 3URIeFd H T IS AT
3. Queen bee and Drones / =T HW IR/ HW

4. Flowers available to the bees for nectar / Hﬂﬂ%@'ﬂ’f & ARG ?T:Df 3TclsY EW 9T

Correct Answer :-

+ Flowers available to the bees for nectar / Hﬁ]}l’%@'ﬂ’f & HAG ?-.T:[ Yl IvT WX
30) Which physical quantity has the unit N/kg? /

e sifas afr # 31§ N/kg 8?2

1. Velocity / @t

2. Acceleration / c@oT

3. Speed / =TT

4, Force / §oT

Correct Answer :-

» Acceleration / TaoT

31) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

A sfeaf@a aRFufadr a7 F @ gew IEdT 71 378 Tgafaw

IolT N9F deq, AMFERT , HTUEHRY, STAAId) FRE, T



1. Inorganic nutrients and forests / 3/oid 9I%eh ded 3R aef

2. Decomposers and climatic factors / 3TgehRT 3R STa@rIdl HR$
3. Decomposers and inorganic nutrients / AYITHRI 3R 3od UNF dd
4, Climatic factors and inorganic nutrients / SITaRId! R 3R 3foid TN dd

Correct Answer :-

« Climatic factors and inorganic nutrients / STarId! HRb 3R 35 TN I

32) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

Hr Re v gert & @ vF gard F a9 F Iy F-aga FAr Fw, O fi9t sawaEt d wwedar
¥ fac@AE § G ¢ 39 et F ggaeT #|

1. Table salt. / HIHATTT IHR
2. Diamond. / §RT

3. Helium gas. / giforgesr 34

4. Water. / 3TdT

Correct Answer :-

o Water. / STl

33) is used for making the pencil lead. /

e s sa= & AT &1 3uAer T S g
1. Graphite / JPIST

2. Diamond / gRT

3. Silica / f&fa#r

4, Calcium / Sferrme

Correct Answer :-

« Graphite / JHBT

34) To move an uncharged body from its state of rest , we have to apply : /

et mafra avg # 3uF ey & Bufa & Pwes F v, g8 aomer e
1. A balanced external force / Us Hfoid aed &of

2. An unbalanced electrostatic force / U 3igfard fRR %‘c:qa gq

3. An unbalanced external force / U 3Riqferd STl o7l

4. A balanced frictional force / Teh Hqfold a¥oT ol

Correct Answer :-



» An unbalanced external force / U &H@ﬁﬂiﬂ'@aﬁ

35) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

gATEEE @ g & fsedor & ghe, Fl W1 ward sare wefw F 3raew FOll Y g X arer ey Ao
FI g T FIFE F T F FF FIaT 87

1. P,O;5
2.C.

3. CaCl,
4. CaO

Correct Answer :-

e CaO

36) National Science Day is celebrated on in India. / Rd & TS A=
s H HAATIT SATAT 1

1. February 28 /28 TRARN
2.May1/17%

3.June 5 /591
4.March 7 /7 919

Correct Answer :-

. February 28 /28 TRaR]

37) Evaluation is a ./ ﬂ"\FﬂTEb_c-I' THh |

1. process unrelated to instructional objectives / a@%m 37:'\?."\’?ﬁ & fore sraefaa gfshar
2. continuous process / Hdd gfsrar

3. Non-quantitative process / 3R-HATITcHS FfshaT

4. Non-qualitative process / ﬁ?—ﬂlﬂm ufcsar

Correct Answer :-

. continuous process / Tdd ATshdT

38) The educational programs of NCERT are telecasted on: / TaTHIS3Er & darforew
FIAHAT H W y@Rd fFar smar g1

1. Gyan Darshan channel / 3T &1 dalel

2. Doordarshan National channel / 8,3?\'%1?1' AT eTol



3. Doordarshan Bharti / E@:{_c!(%i?-r AT
4. eGyankosh /EC-WN

Correct Answer :-

« Gyan Darshan channel / JTeT g2l Aot

39) Which group of organisms are not constituents of a food chain ?/

SAal FT FleT § WHE WIGT HW@T F °UTH Al o2

1. Frog, snake, grass, eagle, grass hopper / ¥, 19, g1y, I, ﬁEET
2. Lion, rabbit, grass, wolf/ R, @, =, Afsar

3. Snake, grass, wolf, tiger / Q:I'i'q, a1y, Afsan, st

4. Man, plankton, fish, grass hopper / HTId, Toldeh, HGall, fcgar

Correct Answer :-

- Snake, grass, wolf; tiger / Q:I'i'q, a1y, AT, 19

40) Which of the following statements is not true for a constructivist teacher? / frfataa
# @ Pl a1 Fu=, TH [@aAERr RAatd & AT @@ a8 8

1. His/her students work mainly in groups / 3dch Bl HET w9 q '\‘:l?:lﬁ H FF FT &
2. His/her role is rooted in negotiation. / 3&ichl Silt\'ﬁlTﬂ Hesid H e gl

3. He/she assesses the students through testing by checking for correct responses. / dg gl
gfafsrarsit & fow Sifa e a0eToT & ATCTH & SET FT 3ol Hd gl

4. He/she values the interest of students. / 98 ST & fed & HAgd &d &1

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / dg Tal
gfaferanit & T ST ste 9eToT & ATETH & SIET Hl 3iiholed ald 2|

41) «Assessment of learning” does not include: / "3 FT HhdaA" AFT H AT
Cl

1. Evidence based assessment/ TT&T TR 3Teholel

2. Criteria based assessment/ HTIG8 TR 3fTeholel

3. Assessment of outcomes / IROTHAT T 3Teholel

4. Mapping students’ progress/ HFITIA0T BTAT T YaTfd



Correct Answer :-

. Mapping students’ progress/ HIITIIOT BEr Fr gerfa

42) Which of the following statements is false about the collaborative learning

approach? / FufefRad & @ &9 91 $Y IgUNTHS JRAH eS0T & IR § 7Tad 82
1. Social skills of learner are developed. / 21Tt &1 @mford *ierer fAefAd giar gl

2. Emotional skills of learner are developed. / et &1 ATaTATCHS aﬁTerar, aepfaa grar
gl

3. Every student participates pro-actively in the task. / Icder STF, BT & tl(\ﬂ' afshadr &
AT oI &

4. Dominance of the teacher is reduced. / 18/ &1 UHIG B 63r STl %I
Correct Answer :-

. Every student participates pro-actively in the task. / ¥cdeh STF, ®1F H q‘\ﬂ' afrgar &
HIIT AT B

43) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

farafaf@a & @ % Fya IFEH F yrgst F AsHyor & R Fo v el i ghwar & A
R ¥ 39 W FUT F TgAE|

1. Roasting is used for Carbonate ores. / $75ieT H39dIT HIElic 3TEh & foIw fRar Srar gl

2. Roasting is not used for Sulphide ores. / Aol T 3UITIT HeWlss ITEH & v FF@' fRar Srar ?’I
3. The ore is heated in the presence of air. / 379 I gaT Hr 3ureafa & I forar ST g

4. The ore is heated in the absence of air. / 37I¥a& I gaT dr BTﬂ'qﬁglﬁ H I Far Srar gl

Correct Answer :-

 The ore is heated in the presence of air. / 3TITH Ca) gdr $r sufeafa & 77 Far arar %’I

44) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the
reflecting rock from the sound source is: /

Ife uep @fy Ft fa 340 Hiez/AFS 2 o 3.5 Gds A ufaa™ amuy et 8, @ @< Wia &1 ufdeafa &1 ara
T B gl &

1. 595m / 595 #Hrex
2.1190m / 1190 #Hex
3.170m / 170#eT

4.955m / 955 HIX

Correct Answer :-



e 595m / 595 HIX

45) The unit “hertz” is the SI unit of the physical quantity: /
e e § A fp Wifas amn 9t ume (Tyens) 39S §:

1. Sound / &afeT

2. Frequency / 3-1'[6;%

3. Period / 37af&r

4. Amplitude / 3TATH

Correct Answer :-
« Frequency / 3-113;%

46) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /
TSP 2 U I 4 APs A 144 frwil/dger @ 72 it/ Her 9% 0 Hdl 8, T BT @R 8:-

1.-5m/s?

2.5 m/s?

3. 10m/s2

4, -10m/s?

Correct Answer :-

. -5m/s?

47) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

THT Bt T fHor 3 3 T Ut uR 30° & SATUA BT IR SATufd gil B, YHT=T S fig &1 FHior ghm:
1. 60°
2. 45°
3.30°
4.15°

Correct Answer :-

« 30°

48) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AfCTTT Tl & Ul F Fagai® 3R a6 F Toaie F T 300 swd B g &
1. 180 equal parts / 180 SRTeR fg&ar

2. 273 equal parts / 273 SRTeR @&t



3. 100 equal parts / 100 SRTeR fR&aT

4. 120 equal parts / 120 sRTeR fgeqt

Correct Answer :-
« 100 equal parts / 100 SRT&R feeat

49) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

| a1 f3= 1 T & waRT 31 HiY ot @1 I, |re & siftean A, N Ry iR S FR® @1
UGN HEaATdl §

1. Genetic manipulation. /SHQETfQ\H'T LTS
2. Organic farming. / oi@ ajﬁ'

3. Biofertilizer farming. / aaaaquﬂﬁ

4. Biochemical farming. / STaRTERIMAS HY

Correct Answer :-

« Organic farming. / 319 'cljﬁf

50) Combustible materials can be disposed off through / 3gafter gt fFas Aregw & Aved o
T &

1. Composting / HFTIEEIT
2. Recycling / GeIRdshoT

3. Dumping /ﬂﬁrﬁw

4, Incineration / HRATHRT

Correct Answer :-

« Incineration / HRATHRT

51) The anhydride of H3PO4is: /
H3PO4 &1 TTETSSISS ¢

1. PCl4

2. PCl,

3. PH;

4, P,O5

Correct Answer :-



52) Among the following ecosystems, man made ecosystem is /
Frafafea uitfufos @ & |, A fffa affRufest @ 6:

1. Garden / &t

2. Ponds / dTdild

3. Forests / STl
4. Lakes / @

Correct Answer :-

e Garden/ =T

53) Vibro-tactile aids are used for students. / ﬁ'gﬁ-éaas?r HEc BT IUURT
BrEl & foe fear sman g1

1. mentally ill / AATAS® T F fHAR
2. dumb / a3
3. deaf / &Y
4.blind / 3&

Correct Answer :-

. deaf / 98X

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: “UTg BT fagyga UfaRIY, AUHE & GidEedal” The | e gl
1. Concept / TR0

2. Theory / @?{ﬁ]’lﬁ'

3. Principle / et

4. Hypothesis / 9RereqeIT

Correct Answer :-

. Principle / o/ g#r

55) Herbarium is a dry preservation of . | gafaH P TS Y[CH HEUT g
1. fishes /| AT

2. bird feathers / 9&f & g@r
3. herbs / STar Ej’\ﬁ?ﬂ
4. plants /tﬁ‘iﬁ

Correct Answer :-



« plants / tﬁ‘fff

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFrafafaa & @ #19 Rieor 91 ggRfes At &1 ve @y 78 22

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Ueh

ST 9ishaT Bl & &1, I8 Ueh [ARTd AT 3@ & UTRT qrodshd & QU i
#H TETIdr T TqHhaT g

2. It helps in developing creativity in the learners /Ig Rrenfiat & @aArcAsar fTefaa Fa
H HAce adr gl

3. The students develop the power of observation. / BTl # gl 1 AfFd faefaa gdr
gl

4. Self-activity is used for gaining knowledge. / FTeT UTed el & TolT TT-IMTATATT &1
39T foRam ST §

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Teh

ST 9TshaT Blel & &1, I8 Ueh [ARTd AT @i & UTRT qrodshd &l QU i
H FgrIaT IR Thell ol

57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / fufafea A A fPaueR &
UY BT IYANT, T fagr e gRT RERY Bt GAT 3R THIpd DI 8d Th BT B &HdT BT
JTpa HIA & forg fopar S anfge?

1. Selection type objective question / TIeT ATl TEITASS T2oT

9

2. Supply type objective question / 3-1Tc‘|'\fé aTel d{—gl’ﬁ% G
3. Short answer type question / g 3t arel 99
4. Long answer type question / S 3AX aTel UeeT

Correct Answer :-

. Long answer type question / G 3% aTel 9eel

58) Which of the following is a biotic factor?/
farafaf@a #& & #la a1 AfRF Fra &
1. Microbes / ﬂ?rrug

2. water / STel

3. Soil / TACE

4, Air /91T
i)



Correct Answer :-

. Microbes/(lallUQI

59) perseverance is an attribute that: / ¥3dT T& fawdr & ar:

1. Allows repeated opportunities for success / heldl & folT TR-R T Sl ol
2. Gives success in single attempt / TUeh @' 9 H holdl Sar %l

3. Leads to continuous success / A AT HT 3R o AT %’I

4. Makes one narrow minded towards work / &6 & Yfad Hehror dra AT T B

Correct Answer :-

. Allows repeated opportunities for success / GheldT & folT SR-IR 37T ¢l gl

60) Which of the following is NOT true of performance-based assessments? / fa&ifaf@a #
¥ FiT yeda-3meaRa e FT TcT JAE 2

1. It measures students ability to apply the knowledge learnt / Jg T3 CEIRY A 37T AT &l
I el I &THAT &l ATIT g

2. It is simple and non-authentic / Ig Il IR R-HHOE B
3. It is open-ended and time-bound / Ig§ qm—m (FATT1-E33) 3iR AT-dcYT gl

4. It is process/product oriented/ g UTohdlel 3cUTG 3?:1@ %’I

Correct Answer :-

. It is simple and non-authentic / g HIcl 3T R-yao= gl



